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ZARBETSBLAD 13

Potenser med negativ exponent

Skriv talen med tiopotens.

  1	 a)  0,1 = ____________	 b)  0,001 = __________	 c)  10 000 = ____________

  2	 a)  0,03 = ____________	 b)  500 = ___________	 c)  0,0004 = ____________

  3	 a)  1 700 = ____________	 b)  0,0012 = ___________	 c)  en hundradel = _________

  4	 a)  860 000 = ____________	 b)  0,000 27 = __________	 c)  en tusendel = _________

Skriv talen utan tiopotens.

  5	 a)  10–2 = ____________	 b)  103 = _________	 c)  10–4 = ____________

  6	 a)  7 ∙ 10–1 = ____________	 b)  9 ∙ 103 = _________	 c)  5 ∙ 10–3 = __________

  7	 a)  4,2 ∙ 102 = ____________	 b)  3,6 ∙ 10–1 = _________	 c)  7,4 ∙ 104 = ___________

  8	 a)  10–3 = ____________	 b)  8,65 ∙ 103 = _________	 c)  4,1 ∙ 10–2 = _________

Beräkna

  9	 a)  103 ∙ 102 = ___________	 b) 
7

2
10
10

 = ___________

10	 a)  103 ∙ 10‒2 = ___________	 b) 
2

7
10
10

 = __________

11	 a) 
7

2
5
5

 = __________	 b)  57 ∙ 5‒2 = ________

12	 a) 
1

2
3
3

−

 = _________	 b)  3‒5 ∙ 3‒1 = ________

13	 a) 
8

2 6
10

10 10⋅
 = ________	 b)  107 ∙ 10‒7= ________

14	 a)  4‒1 ∙ 4‒4 ∙ 42 = _______	 b)  
7

2
4
4−

 = ________

15	 a) 
3 3

3
10 10

10
+  = ________	 b) 

4 3

2
10 10

10
−  = _________
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Potenser med negativ exponent

FACIT  

  1	 a) 10–1

	 b) 10–3

	 c) 104

  2	 a) 3 · 10–2

	 b) 5 · 102

	 c) 4 · 10–4

  3	 a) 1,7 · 103

	 b) 1,2 · 10–3

	 c) 10–2

  4	 a) 8,6 · 105

	 b) 2,7 · 10–4

	 c) 10–3

  5	 a) 0,01

	 b) 1 000

	 c) 0,0001

  6	 a) 0,7

	 b) 9 000

	 c) 0,005

  7	 a) 420

	 b) 0,36

	 c) 74 000

  8	 a) 0,001

	 b) 8 650

	 c) 0,041

  9	 a) 105

	 b) 105

10	 a) 10

	 b) 10‒5

11	 a) 55

	 b) 55

12	 a) 3‒3

	 b) 3‒6

13	 a) 1

	 b) 1

14	 a) 4‒3

	 b) 49

15	 a) 2

	 b) 90


